Algebra I Individual Solutions 2006 FAMAT March Invitational

1.   B Order of operations

2.   A 3x + 6 = 7x – 6, 4x = 12, x = 3

3.   D all teams except the winner must lose (63 games).

4.   A 
[image: image1.wmf] so 
[image: image2.wmf].
5.   C   3x + 4(2x - 1) = 7, x = 1, y = 2(1) -1, (1,1), 1 + 1 = 2

6.   B 2x + 3 = 6 – x and 2x + 3 = x – 6.  Hence x = 1 or -9, since both check, they sum to -8.
7.   B 2x + 2y = 24, xy = 35, x = 7, y = 5.

8.   C G –15 = 3(B – 15), G = 2B G = 60, B = 30

9.   E 2(70)(90)/(70 + 90) = 78.75

10. A Prob always is ½

11. C the ordinate is 
[image: image3.wmf] in point 
[image: image4.wmf]
12. D  
[image: image5.wmf]

 EMBED Equation.DSMT4  [image: image6.wmf]
13. B k = -2, 2

14. B arithmetic mean = 100, harmonic mean = 64, geometric = 80

15. D 
[image: image7.wmf]=
[image: image8.wmf]
16. A (x + 2y)(2z – 4y +7) = 2xz + 4yz – 8y^2 + 7x + 14y

17. B 6h – 10 = 4h. requires 5 hops.  Time involved is 5h + 3 (h – 1) | h = 5 is 37 seconds.

18. C time left for bee to travel = 320/(14 + 26) = 8 hours.  Speed of  the bee at any point is 500 mph.  Total distance is (500 mph)(8 hours) = 4000 miles.

19. C  x, y-intercepts are ((4,0), (0,(3).  Area is .5(3)(4)(4times) = 24.

20. B (x – 3)(x – 4)  = 
[image: image9.wmf] so (3, 4)

21. C HHH, HHT, HTH, THH are the possible 4/8 or ½

22. D 30 sec/5 cuts = 6 sec per cut.  Time = 5 min + (17 cuts)(6 s. per cut) = 6 min 42 s

23. B small : large = 2:1, (.25)(2): (.75)(1) = 2:3

24. E DATA, DAAT, DTAA, TDAA, TADA, TAAD, ADAT, ADTA, ATDA, ATAD, AADT, AATD = 4!/2! = 12

25. D 
[image: image10.wmf]BUT -2 fails, so sum = 5. 

26. A 
[image: image11.wmf]13+31+12+21 =77

27. D First find when 
[image: image12.wmf], 
[image: image13.wmf] or x = -1, 6. Then the integers from -1 to 6, inclusive, are in the solution with a quick check at x = 0. So there are a total of 8.

28. A (a – 2)(b – 2) = ab – 2(a + b) + 4 = 7/2 – 2(5/2) + 4 = -5/2

29. A definition of the Commutative Property of Addition

30. D multiples of 17 = 17, 34, 51, 68, 85; multiples of 23 = 23, 46, 69, 92 If the string starts with 6 the it must go like this 69234692346… because if it went like 685?  There is no multiple in the 50s. Since the sequence repeats after every 5,  2007 (mod 5) = 2; last digit is 9.
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